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(ii)

A particle of weight W is attached to two light inextensible strings each
of length 26 cm. The other ends of the strings are attached to two points

on the same horizontal level 48 cm apart. Find the tension in each of the
strings in terms of W.

The strings are replaced by two light elastic strings, each of natural length
26 cm and elastic constant k, attached in the same way. The position of

equilibrium of the particle is now 8 cm below its previous position of
equilibrium. Find the value of k in terms of W.




